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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2021 

 

Subject Name : Fluid Mechanics 
 

Subject Code : 2TE03FLM1   Branch: Diploma (Civil) 
    

Semester: 3         Date: 13/12/2021   Time: 02:30 To 05:30   Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  The continuity equation is based on the principle of 

a) conservation of mass    b) conservation of momentum 

c) conservation of energy   d) conservation of force 

કન્ટિટયિુી વભીકયણ ના સવદ્ાાંત ઩ય આધારયત છે 

a) ભાવનુાં વાંયક્ષણ b) લેગનુાં વાંયક્ષણ 

c) ઊર્જાનુાં વાંયક્ષણ d) ફ઱નુાં વાંયક્ષણ 

1 

 b)  Which one of the following is the unit of mass density? 

નીચેનાભાાંથી કમો વમશૂ ઘનતાનો એકભ છે? 

a) kg/m3 b) kg/ m2 c) kg/ m d) kg/ms 

1 

 c)  The flow of fluid along curvilinear or curved path is known as 

a) Curvilinear Flow b) Circular Flow c) Sink Flow d) Vortex Flow 

લક્ર અથલા લક્ર ભાગા વાથે પ્રલાશીના પ્રલાશ તયીકે ઓ઱ખામ છે 

a) લક્રીમ પ્રલાશ b) વરુ્ારય પ્રલાશ c) સવિંક પ્રલાશ d) લભ઱ પ્રલાશ 

1 

 d)  15 bar equals to __________ Pascals. 

15 ફાય __________ ઩ાસ્કલ્વની ફયાફય છે. 
a) 105Pa b) 1.5 x 106 Pa c) 100 Pa d) 1000 Pa 

1 

 e)  The MoM (Material of Manufacture) of notch is, 

a) Thermoplastic b) Metals c) Fibre d) Wood 

નોચની MoM (ઉત્઩ાદન વાભગ્રી) છે, 

a) થભોપ્રાન્સ્િક b) ધાતઓુ c) પાઇફય d) રાકડુાં 
 

1 

 f)  What is the variation of total pressure with depth for any submerged 

surface if we neglect variation in the density? 

a) Linear b) Parabolic c) Curvilinear d) Logarithmic 

1 
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જો આ઩ણે ઘનતાભાાં ભબન્નતાની અલગણના કયીએ તો કોઈ઩ણ ડફૂી ગમેરી 
વ઩ાિી ભાિે ઊંડાઈ વાથે રુ્ર દફાણનો તપાલત શુાં છે? 

a) યેખીમ b) ઩ેયાફોભરક c) કસલિભરસનમય d) રઘગુણક 

 g)  Force can be written as______ 

ફ઱ ______ તયીકે રખી ળકામ છે 

a) [M][L][T]
-2

 b) [M][L][T]
2  

c) [M][L][T] d) [M][L][T]
3 

1 

 h)  Which one of the following is a major loss? 

a) frictional loss b) shock loss c) entry loss d) exit loss 

નીચેનાભાાંથી કયુાં ભોટુાં રોવ છે? 

a) ઘ઴ાણ રોવ b) ળોક રોવ c) પ્રલેળ રોવ ડી) ફશાય નો રોવ 

1 

 i)   Which one is in a state of failure?  
a) Solid b) Liquid c) Gas d) Fluid 

જે સનષ્પ઱તાની સ્સ્થસતભાાં છે? 

એ) ઘન b) પ્રલાશી c) ગેવ ડી) ફ્લમુડ 

1 

 j)  The results of which are more accurate; rectangular notch or triangular 

weir. 

a) Rectangular notch b) Triangular weir c) Both are equally accurate 

d) Rectangular weir 

જેનાાં ઩રયણાભો લધ ુવચોિ છે; રાંફચોયવ ખાાંચ અથલા સિકોણાકાય સલમય. 
a) રાંફચોયવ નોચ b) સિકોણાકાય સલમય c) ફાંને વભાન યીતે વચોિ છે 

d) રાંફચોયવ સલમય 

1 

 k)  The velocity component after striking the surface will be________ 

a) One b) Zero c) Infinity d) Negative 

વ઩ાિી ઩ય પ્રશાય કમાા ઩છી લેગ ઘિક ________ શળે 

a) એક b) શટૂમ c) અનાંત d) નકાયાત્ભક 

1 

 l)   Force exerted by a jet on a stationery plate happens in how many cases? 

a) 3 cases b) 2 cases c) 1 case d) Nil 

સ્િેળનયી પ્રેિ ઩ય જેિ દ્વાયા રગાલલાભાાં આલેર ફ઱ કેિરા રકસ્વાઓભાાં 
થામ છે? 

a) 3 કેવ b) 2 કેવ c) 1 કેવ d) શટૂમ 

1 

 m)  Which among the following is not a fundamental dimension? 

નીચેનાભાાંથી કયુાં મ઱ૂભતૂ ઩રયભાણ નથી? 

a) [L] b) [M] c) [T] d) [kg] 

 

1 

 n)  Which property of the fluid accounts for the major losses in pipes? 

a) density b) specific gravity c) viscosity d) compressibility 

પ્રલાશીની કઈ પ્રો઩િી ઩ાઈ઩ોભાાં ભોિા રોવ ભાિે જલાફદાય છે? 

1 
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a) ઘનતા b) સ્઩ેસવરપક ગરુુત્લાક઴ાણ c) સ્સ્નગ્ધતા d) વાંકોચનક્ષભતા 
Attempt any four questions from Q-2 to Q-8: 

Q-2  Attempt all questions (14) 

 A Show various component of venturimeter with the help of neat sketch and 

explain function of each. 

સઘુડ સ્કેચની ભદદથી લેટચયુીભીિયના સલસલધ ઘિકો ફતાલો અને દયેકનુાં 
કામા વભર્જલો. 

7 

 B In one pipe line system loss of head due to friction is 2.0m Now discharge 

is made two times the original one, Neglecting other losses determine now 

loss of head due to friction. 

એક ઩ાઇ઩ રાઇન સવસ્િભભાાં ઘ઴ાણને કાયણે શડેનુાં રોવ 2.0m છે શલે 
રડસ્ચાર્જ મ઱ૂ કયતાાં ફે ગણો થામ છે, અટમ નકુવાનની અલગણના કયલાથી 
ઘ઴ાણને કાયણે શડેનુાં રોવ થામ છે તે ળોધો. 

7 

    

Q-3  Attempt all questions (14) 

 A Derive an equation for the force exerted by the jet on a stationary vertical 

plate. 

સ્સ્થય ઊબી પ્રેિ ઩ય જેિ દ્વાયા રગાલલાભાાં આલેરા ફ઱ ભાિે વભીકયણ 
ભે઱લો. 

7 

 B What is capillarity? Derive an expression of a capillary rise for water. 

કેસ઩રેરયિી શુાં છે? ઩ાણી ભાિે કે઩ીરયી લધાયોની અભબવ્મસ્તત ભે઱લો. 
7 

    

Q-4  Attempt all questions (14) 
 A Find the force exerted by a jet of water of diameter 75mm on a stationary 

flat plate, when the jet strikes the plate normally with velocity of 20 m/s. 

સ્સ્થય વ઩ાિ પ્રેિ ઩ય 75 ભીભી વ્માવના ઩ાણીના જેિ દ્વાયા રગાડલાભાાં 
આલેર ફ઱ ળોધો, જ્માયે જેિ પ્રેિને વાભાટમ યીતે 20 ભી/વેકાંડના લેગ વાથે 
અથડાલે છે. 

7 

 B Explain different types of fluid with details. 

સલસલધ પ્રકાયના પ્રલાશીને સલગતો વાથે વભર્જલો. 
7 

    

Q-5  Attempt all questions (14) 
 A Two reservoirs are connected by a pipe 250 mm dia and 4000 mt long, the 

difference in surface level 15mt. calculate the discharge through pipe in 

lit/hr assume f = 0.008 

ફે જ઱ાળમો 250 mm વ્માવ અને 4000 mt રાાંફા ઩ાઇ઩ દ્વાયા જોડામેરા છે, 

વ઩ાિીના સ્તયભાાં તપાલત 15mt છે. lit/hr ભાાં ઩ાઇ઩ દ્વાયા રડસ્ચાર્જની 
ગણતયી કયો f = 0.008 ધાયો 

7 
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 B Derive formula for metacentric height with neat sketch. 

સઘુડ સ્કેચ વાથે ભેિાવેન્ટિક ઊંચાઈ ભાિે સિૂ ભે઱લો. 
7 

    

Q-6  Attempt all questions (14) 
 A A fluid having Sp.Gr. 0.9 is flowing through a pipe of 20 cm diameter. If 

rate of flow is 60 lit/s and viscosity of the fluid is 0.8 poise, decide the type 

of flow. 

Sp.Gr ધયાલત ુાં પ્રલાશી. 0.9 20 વેભી વ્માવની ઩ાઇ઩ભાાંથી લશ ેછે. જો 
પ્રલાશનો દય 60 ભરિય/વેકાંડ શોમ અને પ્રલાશીની સ્સ્નગ્ધતા 0.8 ઩ોઈવ શોમ, 

તો પ્રલાશનો પ્રકાય નક્કી કયો. 

7 

 B Enlist pressure measuring equipment and explain any one with neat sketch. 

દફાણ ભા઩લાના વાધનોની માદી ફનાલો અને કોઈ઩ણ એકને સઘુડ સ્કેચ 
વાથે વભર્જલો. 

7 

Q-7  Attempt all questions (14) 
 A Explain the Reynolds’s experiment with sketch and relate the Reynold’s 

Number to the types of flow. 

યેનોલ્્વ પ્રમોગને સ્કેચ વાથે વભર્જલો અને યેનોલ્્વ નાંફયને પ્રલાશના 
પ્રકાયો વાથે જોડો. 

7 

 B State and explain various losses in flow through pipes. 

઩ાઈ઩ોના પ્રલાશભાાં થતા સલસલધ રોવ જણાલો અને વભર્જલો. 
7 

    

Q-8  Attempt all questions (14) 

 A State and explain continuity equation. 

કન્ટિટયિુી વભીકયણ જણાલો અને વભર્જલો. 
7 

 B Write short notes on 

1. pitot tube   2.Orifice meter. 

ટૂાંક નોંધ રખો 
1.સ઩િોિ િયફુ 2.ઓરયરપવ ભીિય. 

7 

    
 


